30.

A person in a photographic dark-room switches on an electric light.  The light-bulb is the only source of light in the room. 

Which of the following is the most complete and correct explanation of how the person is able to see an object in the room?


A

The light bulb bathes the room in light.  This makes it possible to see an object anywhere within the room.
B

The bulb emits light, which travels outwards in all directions.  Some of it hits the object and illuminates it.  When a person directs their gaze towards the object, they are able to see it.
C

The bulb emits light which travels outwards in all directions.  Some of it hits the object.  This makes it bright enough for a person to see it.
D

The bulb emits light which travels outwards in all directions.  Some of it hits the object.  Light is then reflected from every point of the object, again going in all directions.  Some of this enters the person’s eye.

